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1) ________ layer filters the proxy firewall.

Application

Transport layer

Network Layer

None of these

2) PHP is a language which is -

server

loosely typed

client

system

3) The JavaScript’s syntax calling a function/ method is -

Primary expression

Functional expression

Invocation expression

Property Access Expression

4) Which function removes the slashes that are added by magic quotes?

stripslashes()

c. isset()

unset()

addslashes()

5) The JavaScript______class represents regular expressions, and both string and__________

define methods that use regular expressions.

RegExpObj

RegExpClass

RegExp

StringExp



6) Javascript is _________ language.

programming

scripting

Application

none of these

7) Join types in join condition

2

3

5

7

8) _______ is the unit to measure data transfer.

MHz

DPS

MBPS

DIPS

9) _________ is also known as flash BIOS?

EEPROM

RAM

PROM

EPROM

10) Software that can be downloaded without paying any cost is known as ______.

firmware

extraware

freeware

openware

11) Network transmission speed is greatest in ______ network.

LAN

WAN

MAN

all of these



12) ________ command in Windows operating system is used to cancel the last action or

command.

Delete

Undo

Redo

Trash

13) WWW stands for _______________________.

Wide World Web

Warm Width Web

World Wide Web

Wild Width Web

14) ________ is known as the father of Computer Algorithms.

Charles Babbage

Von Neumann

Donald Kunth

Bjorn Borg

15) In an email what does BCC stand for?

Blind Carbon Copy

Blank Carbon Copy

Blank Character Copy

Blind Customized Choice

16) The network layer concerns which of the following?

bits

frames

packets

none of these



17) Irreducible BER floor is created in frequency selective channels due to ________

Intersymbol interference

Random spectral spreading

Time varying Doppler spread

Blind speed

18) What are the different views to present a Table ?

Datasheet View

Design View

Pivot Table View

All of these

19) A transaction is delimited by statements (or function calls) of the form __________

Begin transaction and end transaction

Start transaction and stop transaction

Get transaction and post transaction

Read transaction and write transaction

20) What type of join is needed when you wish to return rows that do have matching values?

Equi-join

Natural join

Outer join

All of these

21) Which of the following functions of String object creates a string to be displayed in a big font as

if it were in a tag?

anchor()

big()

blink()

italics()



22) PHP files have a default file extension of_______

html

xml

php

ph

23) How many configuration directives pertinent to PHP’s mail function are available?

4

5

6

7

24) What is used for finding out about objects, properties and methods?

Form layout window

Code editor window

Object browser

None of these

25) To continue a long statement on another line, use:

an underscore character

an ampersand character

Ctrl + Enter

a space followed by an underscore character

26) Which among the following is true?

The private members can’t be accessed by public members of the class

The private members can be accessed by public members of the class

The private members can be accessed only by the private members of the class

The private members can’t be accessed by the protected members of the class

27) When is method overloading determined?

At run time

At compile time

At coding time

At execution time



28) Which of these can be overloaded?

Methods

Constructors

Both Methods and Constructors

None of these

29) Which statement is used to check how MySQL would execute a SELECT query?

TELL

SHOW

DISPLAY

EXPLAIN

30) Which of the following is not an official version of Windows operating system?

Windows Office

Windows ME

Windows XP

Windows Vista

31) Which of these shortcuts in Windows 7 operating system is used to display the address bar list

in the windows explorer?

F1

F3

F4

F5

32) What does I in the full form of MICR stands for:

Ideal

Indented

Integrated

Ink



33) Which of these key combinations in the Windows Operating system is used as a shortcut for

Redo ?

Ctrl + N

Ctrl + P

Ctrl + Y

Ctrl + Z

34) In the Handshake protocol action, which is the last step of the Phase 2 : Server Authentication

and Key Exchange?

server_done

server_key_exchange

certificate_request

crtificate_verify

35) Which is the key exchange algorithm used in the Cipher Suite parameter?

RSA

Fixed Diffie-Hellman

Ephemeral Diffie-Hellman

Any of the mentioned

36) Which one of the following is not a higher –layer SSL protocol?

Alert Protocol

Handshake Protocol

Alarm Protocol

Change Cipher Spec Protocol

37) Which one of the following is not a session state parameter?

Master Secret

Cipher Spec

Peer Certificate

Server Write Key



38) Which of the following has an “all-or-none” property?

Atomicity

Durability

Isolation

All of these

39) Which of the following is one of the basic approaches for joining tables?

Subqueries

Union Join

Natural join

All of these

40) In PHP, cookies are set by using which one of the following?

setcookie() function

set() function

cookie_set() function

none of these

41) If session.use_cookie is set to 0, this results in use of which of the following?

Session

Cookie

URL rewriting

Nothing happens

42) What is the full form of DNS?

Digital Network System

Domain Network System

Digital Name System

Domain Name System

43) Which private member functions access scope?

Member functions which can only be used within the class

Member functions which can be used outside the class

Member functions which are accessible in derived class

Member functions which can’t be accessed inside the class



44) Which of these keywords are used to define an abstract class?

abst

abstract

Abstract

abstract class

45) Which of these methods are used to register a keyboard event listener?

KeyListener()

addKistener()

addKeyListener()

eventKeyboardListener()


